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1 Energy and a skating dog

A dog rides a skateboard (combined mass 20 kg) up and down a curved track. The dog starts

from rest at the top of the track which is 4.0m above the ground. The lowest point on the
track is at ground level.

a) Determine the kinetic energy, the potential energy and the total energy of the dog at
the top of the track.

b) Determine the kinetic energy, the potential energy and the total energy of the dog when
it is halfway down the track (2.0 m above the ground).

¢) Determine the kinetic energy, the potential energy and the total energy of the dog when
it is at the bottom of the track.

d) Determine the kinetic energy, the potential energy and the total energy of the dog when
it is a quarter way up the track (1.0 m above the ground).

Instant KE PE | Total Energy
Top ON] FEAI 7“&43 T l@\ are.
2.0m above gromnd | 3927 | 3427 | | 7843 a:\-ﬂ'us-;:a(;:,;s. Wer
At ground 7%43 ON] | 2847 Rt
Lom sbove ground | 5857 | 1963 | | 78T J
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z 5 = Jokil = 7843

D Mxgxl= 20y x A8mISiX 4,im = 7843
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b) PE = Mxgrh= 20k x W8mb*x 2,0m = 3923

KE+PE = 7543 =p Ke+ 3923 =747 =v Kg= 74T -392T =3927

’-(’/?i Ke = Tlokl-PE
&) PE= Whyx A3ml xOm = O

d) PE= 20kxAgmisTxim = 126 T



